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[ = -23—5 x V2
iy = ig25+>igi-ig3
= 13979 + % x 03010 — 04771
= 13979 + 0.1505 — 04771
= 1.0713
! = antilog1.0713
I = 1178
&8s goo Bowd

qrom Bdwnd
fx d Bcwd

Y = —80 a1 o Be0

2fd
=
®onmne = A+ 57,

240+ (=3)

=240 - 4
=/ oy, 236
SDnms @8m gig10® = . 236 x 30
= o 7080
dr. 5000+ 1 800
= . 6800
&8 Eatow = o 7080-6800
=  .280

Ol @& 8

2

1

=

07. @) ) T.=a+ (n-1)d

T,=a+6d
27=3+6d
24 = 6d
4 =d

(i) 59 =a+ (n-1)d
59 =3+ (@m-1) x 4
56 = (n—1) x 4
14 =(n-1)

[

Gi) S, = 2 (@a+ )

3 (3:+.59)

El

= NI

Sys =

4

L

wh

x 62
465

_a@"-1)
@ 5= =N
_ 100/ (2%-1)
2-1
100 (256 —1)
1

25 500

08. () AB cband S

(ii) ABS B2 e®dedowwd
AB Bdow®mow § Datmo 4880

(ii) AP cpeg 8600
APB A 1800
PB o & 5®0

(iv) AB© e@zins obiand gi8®d
Q cEen crne 8680

(V) omizicn w Q cfesns o 8580
Q 88 ddebanos Sb@renad
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09. (i)

(ii)

10. ()

(ii)

(iii)

N A
EAY = ADE
A A
EAY = ABC
) N
. ADE = ABC o,
A A
DAX = AFD
Y |
DAX = ACB
N N
~ AED = ACB e,
20 DAE= BAC (owg embencs)

ADE Ao ABC A e38emiéa &d.

DE _ AD
BC AB

DE _ AD

BC  AD+DB

DB = 2AD a© & g,
&80,

E _ _AD

BC AD + 2AD

DE _  AD

BC 3AD

DE_ 1

BC 3

3DE = BC &8.

AC = CP (¢dow)

CAP = APC (c®¢Beu; Bemtes)
CAP=BAP (emies w®bedems)
:. APC=BAP eb.

680 AB//CP .

AC = CP (cs5a)

ACQ = PCQ (emies cx@Bodiczc)
CQ=CQ (omng =)

SACQA = PCQ A ed. (n.emio)

AQ = QP (gnow goo)
CQ = QR (¢zmcs)

s ARPC [T 3 8.
28 AC=CP oz Bes
ARPC ec®awos @8,

| ®
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11. ()

(i)

(i)

12. (i)

(i)
(iif)
@iv)
)

M
B 1100
60 m J1es00
D C
A
Iy
CBD = 70°
. o . CD
Sin70° = e
- o
09397 = =5
56382 = CD
56 m = CD
cb
Tan @ = E
3
Tan & =70
Tan ® = 0.5600
6 = 29°1%

A B CH facms 029° @b

B 08900 w16 A oo C 208z
50Dz BBea

15
120

20

@

® © e e
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10
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